User Study Summary

Our result is shown on the left, as image (B).



Question commerce-002-basket-3: Ours: 8, Kopf and Lischinski 2011: 0, Both: 1, Neither: 1

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

5]

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O



Question commerce-002-basket-3: Ours: 10, Hoshyari et al. 2018: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

5]

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O



Question commerce-002-basket-3: Ours: 9, Selinger 2003: 0, Both: 1, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

5]

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O



Question commerce-012-help: Ours: 8, Kopf and Lischinski 2011: 0, Both: 0, Neither: 2

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

®

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O



Question commerce-012-help: Ours: 8, Hoshyari et al. 2018: 0, Both: 1, Neither: 1

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

®

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O



Question commerce-012-help: Ours: 8, Selinger 2003: 1, Both: 0, Neither: 1

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

®

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O



Question commerce-017-gift: Ours: 10, Kopf and Lischinski 2011: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

i

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O



Question commerce-017-gift: Ours: 10, Hoshyari et al. 2018: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

i

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O



Question commerce-017-gift: Ours: 10, Selinger 2003: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

i

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question commerce-019-second: Ours: 10, Kopf and Lischinski 2011: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

&

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question commerce-019-second: Ours: 10, Hoshyari et al. 2018: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

&

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question commerce-019-second: Ours: 10, Selinger 2003: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

&

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

13



Question commerce-024-new: Ours: 9, Kopf and Lischinski 2011: 0, Both: 0, Neither: 1

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

MHEL

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question commerce-024-new: Ours: 8, Hoshyari et al. 2018: 0, Both: 0, Neither: 2

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

MHEL

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question commerce-024-new: Ours: 10, Selinger 2003: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

MHEL

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question commerce-026-delivery: Ours: 9, Kopf and Lischinski 2011: 0, Both: 0, Neither: 1

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

)
Original [A) Scaled Up

(B) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

17



Question commerce-026-delivery: Ours: 8, Hoshyari et al. 2018: 0, Both: 0, Neither: 2

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

)
Original [A) Scaled Up

(B) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question commerce-026-delivery: Ours: 8, Selinger 2003: 0, Both: 0, Neither: 2

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

)
Original [A) Scaled Up

(B) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

19



Question commerce-027-box-1: Ours: 10, Kopf and Lischinski 2011: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

=)

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question commerce-027-box-1: Ours: 9, Hoshyari et al. 2018: 0, Both: 0, Neither: 1

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

=)

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question commerce-027-box-1: Ours: 10, Selinger 2003: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

=)

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question commerce-034-purchase: Ours: 9, Kopf and Lischinski 2011: 0, Both: 0, Neither: 1

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

F-

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question commerce-034-purchase: Ours: 10, Hoshyari et al. 2018: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

F-

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question commerce-034-purchase: Ours: 9, Selinger 2003: 0, Both: 0, Neither: 1

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

F-

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question commerce-038-24-hours: Ours: 10, Kopf and Lischinski 2011: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question commerce-038-24-hours: Ours: 10, Hoshyari et al. 2018: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question commerce-038-24-hours: Ours: 10, Selinger 2003: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question commerce-039-shirt: Ours: 8, Kopf and Lischinski 2011: 1, Both: 0, Neither: 1

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

of
Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question commerce-039-shirt: Ours: 8, Hoshyari et al. 2018: 0, Both: 2, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

of
Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question commerce-039-shirt: Ours: 10, Selinger 2003: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

of
Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question commerce-041-shopping-bag-2: Ours: 10, Kopf and Lischinski 2011: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

2

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question commerce-041-shopping-bag-2: Ours: 9, Hoshyari et al. 2018: 1, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

2

Original (A) Scaled Up

(B) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question commerce-041-shopping-bag-2: Ours: 10, Selinger 2003: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

2

Original (A) Scaled Up

(B) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question commerce-043-shopping-bags: Ours: 10, Kopf and Lischinski 2011: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

g

=l

Original [A) Scaled Up

o/

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

35



Question commerce-043-shopping-bags: Ours: 9, Hoshyari et al. 2018: 0, Both: 1, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

g

=l

Original [A) Scaled Up

\

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question commerce-043-shopping-bags: Ours: 9, Selinger 2003: 1, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

g

=l

Original [A) Scaled Up

./

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

37



Question commerce-045-calculator: Ours: 9, Kopf and Lischinski 2011: 0, Both: 0, Neither: 1

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original (A) Scaled Up

(B) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question commerce-045-calculator: Ours: 10, Hoshyari et al. 2018: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original (A) Scaled Up

(B) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question commerce-045-calculator: Ours: 9, Selinger 2003: 1, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original (A) Scaled Up

(B) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

40



Question commerce-048-bill: Ours: 9, Kopf and Lischinski 2011: 0, Both: 1, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question commerce-048-bill: Ours: 7, Hoshyari et al. 2018: 2, Both: 0, Neither: 1

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question commerce-048-bill: Ours: 9, Selinger 2003: 1, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

43



Question contacts-018-happy: Ours: 9, Kopf and Lischinski 2011: 0, Both: 0, Neither: 1

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

&

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

44



Question contacts-018-happy: Ours: 10, Hoshyari et al. 2018: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

&

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

45



Question contacts-018-happy: Ours: 9, Selinger 2003: 0, Both: 1, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

&

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

46



Question contacts-021-contact-list: Ours: 9, Kopf and Lischinski 2011: 0, Both: 1, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

2|

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

47



Question contacts-021-contact-list: Ours: 10, Hoshyari et al. 2018: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

2|

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

48



Question contacts-021-contact-list: Ours: 7, Selinger 2003: 1, Both: 1, Neither: 1

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

2|

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question contacts-022-fax: Ours: 10, Kopf and Lischinski 2011: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

3

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question contacts-022-fax: Ours: 9, Hoshyari et al. 2018: 0, Both: 1, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

3

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question contacts-022-fax: Ours: 10, Selinger 2003: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

3

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question contacts-026-message: Ours: 9, Kopf and Lischinski 2011: 0, Both: 1, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

=5

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question contacts-026-message: Ours: 10, Hoshyari et al. 2018: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

=5

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question contacts-026-message: Ours: 10, Selinger 2003: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

=5

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question food-001-fishbone: Ours: 10, Kopf and Lischinski 2011: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

(i
Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question food-001-fishbone: Ours: 7, Hoshyari et al. 2018: 3, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

(i
Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question food-001-fishbone: Ours: 10, Selinger 2003: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

(i
Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question food-006-champagne: Ours: 9, Kopf and Lischinski 2011: 0, Both: 1, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

v

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question food-006-champagne: Ours: 10, Hoshyari et al. 2018: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

v

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question food-006-champagne: Ours: 10, Selinger 2003: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

v

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question food-018-broccoli: Ours: 9, Kopf and Lischinski 2011: 1, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

'

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question food-018-broccoli: Ours: 5, Hoshyari et al. 2018: 3, Both: 1, Neither: 1

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

'

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

63



Question food-018-broccoli: Ours: 8, Selinger 2003: 1, Both: 0, Neither: 1

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

'

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

64



Question food-021-cutlery-1: Ours: 10, Kopf and Lischinski 2011: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

1

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

65



Question food-021-cutlery-1: Ours: 10, Hoshyari et al. 2018: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

1

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

66



Question food-021-cutlery-1: Ours: 10, Selinger 2003: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

1

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

67



Question food-034-soup: Ours: 9, Kopf and Lischinski 2011: 0, Both: 1, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

23E

Original [A) Scaled Up
(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

68



Question food-034-soup: Ours: 8, Hoshyari et al. 2018: 0, Both: 0, Neither: 2

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

23E

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

69



Question food-034-soup: Ours: 10, Selinger 2003: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

23E

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

70



Question food-038-meat: Ours: 9, Kopf and Lischinski 2011: 0, Both: 1, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

&

Original [A) Scaled Up

(B) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

71



Question food-038-meat: Ours: 4, Hoshyari et al. 2018: 6, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

&

Original [A) Scaled Up

(B) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

72



Question food-038-meat: Ours: 9, Selinger 2003: 1, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

&

Original [A) Scaled Up

(B) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

73



Question food-044-water: Ours: 10, Kopf and Lischinski 2011: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

f

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

74



Question food-044-water: Ours: 10, Hoshyari et al. 2018: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

f

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

75



Question food-044-water: Ours: 10, Selinger 2003: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

f

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

76



Question interface-041-bar-chart: Ours: 10, Kopf and Lischinski 2011: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

7



Question interface-041-bar-chart: Ours: 10, Hoshyari et al. 2018: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

78



Question interface-041-bar-chart: Ours: 10, Selinger 2003: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

79



Question text-editor-041-copy: Ours: 10, Kopf and Lischinski 2011: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

1N

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

80



Question text-editor-041-copy: Ours: 10, Hoshyari et al. 2018: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

1N

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

81



Question text-editor-041-copy: Ours: 9, Selinger 2003: 1, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

1N

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

82



Question text-editor-041-paragraph: Ours: 10, Kopf and Lischinski 2011: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

a

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

83



Question text-editor-041-paragraph: Ours: 10, Hoshyari et al. 2018: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

a

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

84



Question text-editor-041-paragraph: Ours: 10, Selinger 2003: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

a

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

85



Question boo: Ours: 9, Hoshyari et al. 2018: 0, Both: 0, Neither: 1

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

86



Question boo: Ours: 6, Selinger 2003: 3, Both: 0, Neither: 1

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

87



Question cat-1-26x35: Ours: 4, Hoshyari et al. 2018: 3, Both: 2, Neither: 1

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

3

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

88



Question cat-1-26x35: Ours: 8, Selinger 2003: 2, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

3

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

89



Question circle-cross-1-15x15: Ours: 8, Hoshyari et al. 2018: 0, Both: 1, Neither: 1

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original

(A) Scaled Up

(B) ()

(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

90



Question circle-cross-1-15x15: Ours: 9, Selinger 2003: 0, Both: 1, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original

(A) Scaled Up

(B) ()

(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

91



Question cup-44x30: Ours: 5, Hoshyari et al. 2018: 1, Both: 4, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

=
]

Original (A) Scaled Up

el || el

(B) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

92



Question cup-44x30: Ours: 8, Selinger 2003: 1, Both: 0, Neither: 1

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

=
]

Original (A) Scaled Up

== N~ -

(B) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

93



Question hat-1-44x30: Ours: 10, Hoshyari et al. 2018: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

4]

Original (A) Scaled Up

(B) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

94



Question hat-1-44x30: Ours: 7, Selinger 2003: 2, Both: 0, Neither: 1

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

4]

Original (A) Scaled Up

(B) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

95



Question help: Ours: 4, Hoshyari et al. 2018: 3, Both: 3, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

UELEY

Original (A) Scaled Up

(B) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

96



Question help: Ours: 10, Selinger 2003: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

UELEY

Original (A) Scaled Up

(B) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

97



Question spaceship: Ours: 8, Hoshyari et al. 2018: 2, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

=

Original [A) Scaled Up

(B) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

98



Question spaceship: Ours: 7, Selinger 2003: 3, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

=

Original [A) Scaled Up

(B) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

99



Question sword: Ours: 6, Hoshyari et al. 2018: 1, Both: 1, Neither: 2

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

100



Question sword: Ours: 8, Selinger 2003: 0, Both: 1, Neither: 1

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

101



Question caffeine-32: Ours: 2, Hoshyari et al. 2018: 3, Both: 1, Neither: 4

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

w

Original (A) Scaled Up

(B) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

102



Question caffeine-32: Ours: 5, Selinger 2003: 3, Both: 2, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

w

Original (A) Scaled Up

(B) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

103



Question candles-low: Ours: 6, Hoshyari et al. 2018: 3, Both: 1, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original (A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

104



Question candles-low: Ours: 10, Selinger 2003: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original (A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

105



Question chicken-32: Ours: 5, Hoshyari et al. 2018: 3, Both: 2, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Neither'.

v

Original [A) Scaled Up

(B) ©
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

106



Question chicken-32: Ours: 6, Selinger 2003: 4, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Neither'.

v

Original [A) Scaled Up

(B) ©
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

107



Question misc-shayan-bow: Ours: 6, Hoshyari et al. 2018: 1, Both: 0, Neither: 3

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original [A) Scaled Up

(B) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

108



Question misc-shayan-bow: Ours: 10, Selinger 2003: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original [A) Scaled Up

(B) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

109



Question misc-shayan-flower: Ours: 0, Hoshyari et al. 2018: 9, Both: 1, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

&=

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

110



Question misc-shayan-flower: Ours: 7, Selinger 2003: 2, Both: 0, Neither: 1

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

&=

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

111



Question misc-shayan-seahorse: Ours: 5, Hoshyari et al. 2018: 1, Both: 2, Neither: 2

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

2

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

112



Question misc-shayan-seahorse: Ours: 4, Selinger 2003: 3, Both: 0, Neither: 3

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

2

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

113



Question owl-60x67: Ours: 6, Hoshyari et al. 2018: 1, Both: 3, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original (A) Scaled Up

D ©j0

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

114



Question owl-60x67: Ours: 6, Selinger 2003: 3, Both: 1, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original (A) Scaled Up

)0

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

115



Question red-car-32: Ours: 4, Hoshyari et al. 2018: 1, Both: 1, Neither: 4

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

o0

Original (A) Scaled Up

(B) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

116



Question red-car-32: Ours: 7, Selinger 2003: 0, Both: 1, Neither: 2

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

o0

Original (A) Scaled Up

(B) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

117



Question small-hole: Ours: 9, Kopf and Lischinski 2011: 1, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

[=]

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

118



Question small-hole: Ours: 10, Hoshyari et al. 2018: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

[=]

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

119



Question small-hole: Ours: 10, Selinger 2003: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

[=]

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

120



Question camera-32: Ours: 2, Hoshyari et al. 2018: 5, Both: 2, Neither: 1

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Lo

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

121



Question camera-32: Ours: 8, Selinger 2003: 0, Both: 0, Neither: 2

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Lo

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

122



Question cat-32: Ours: 9, Hoshyari et al. 2018: 0, Both: 0, Neither: 1

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

A

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question cat-32: Ours: 8, Selinger 2003: 0, Both: 2, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

A

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question cat-64: Ours: 4, Hoshyari et al. 2018: 1, Both: 5, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original (A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

125



Question cat-64: Ours: 9, Selinger 2003: 0, Both: 1, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original (A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question cloudstation-64: Ours: 0, Hoshyari et al. 2018: 1, Both: 9, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original (A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question cloudstation-64: Ours: 8, Selinger 2003: 0, Both: 2, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original (A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question duck-32: Ours: 2, Hoshyari et al. 2018: 4, Both: 3, Neither: 1

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

3|

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question duck-32: Ours: 3, Selinger 2003: 6, Both: 1, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

3|

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question extinguisher-32: Ours: 3, Hoshyari et al. 2018: 2, Both: 5, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

()

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question extinguisher-32: Ours: 6, Selinger 2003: 3, Both: 1, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

()

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question feather-64: Ours: 1, Hoshyari et al. 2018: 2, Both: 7, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original (A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question feather-64: Ours: 1, Selinger 2003: 0, Both: 9, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original (A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question flag-32: Ours: 8, Hoshyari et al. 2018: 2, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

™~

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question flag-32: Ours: 8, Selinger 2003: 2, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

™~

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question headphone-32: Ours: 2, Hoshyari et al. 2018: 7, Both: 1, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

1)

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question headphone-32: Ours: 4, Selinger 2003: 1, Both: 5, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

1)

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question headphone-64: Ours: 4, Hoshyari et al. 2018: 0, Both: 6, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original (A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question headphone-64: Ours: 6, Selinger 2003: 2, Both: 2, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original (A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question horse-32: Ours: 5, Hoshyari et al. 2018: 3, Both: 2, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

¢

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question horse-32: Ours: 8, Selinger 2003: 0, Both: 2, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

¢

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question horse-64: Ours: 2, Hoshyari et al. 2018: 6, Both: 2, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original (A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question horse-64: Ours: 6, Selinger 2003: 2, Both: 2, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original (A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question island-32: Ours: 4, Hoshyari et al. 2018: 2, Both: 4, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

I

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question island-32: Ours: 2, Selinger 2003: 4, Both: 4, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

I

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question key-64: Ours: 0, Hoshyari et al. 2018: 9, Both: 1, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

o=

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question key-64: Ours: 0, Selinger 2003: 6, Both: 4, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

o=

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

148



Question lips-64: Ours: 1, Hoshyari et al. 2018: 0, Both: 9, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

o

Original (A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question lips-64: Ours: 1, Selinger 2003: 0, Both: 9, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

o

Original (A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question music-32: Ours: 0, Hoshyari et al. 2018: 1, Both: 9, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

5

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question music-32: Ours: 7, Selinger 2003: 0, Both: 3, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

5

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question note-32: Ours: 3, Hoshyari et al. 2018: 5, Both: 2, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

J

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question note-32: Ours: 6, Selinger 2003: 0, Both: 4, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

J

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question note-64: Ours: 5, Hoshyari et al. 2018: 2, Both: 3, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original (A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

155



Question note-64: Ours: 4, Selinger 2003: 4, Both: 2, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original (A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question pawn-32: Ours: 4, Hoshyari et al. 2018: 3, Both: 1, Neither: 2

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

i

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question pawn-32: Ours: 10, Selinger 2003: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

i

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question pawn-64: Ours: 1, Hoshyari et al. 2018: 2, Both: 6, Neither: 1

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original (A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question pawn-64: Ours: 7, Selinger 2003: 1, Both: 2, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original (A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question pear-32: Ours: 2, Hoshyari et al. 2018: 6, Both: 1, Neither: 1

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

é

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question pear-32: Ours: 10, Selinger 2003: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

é

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question phonecord-32: Ours: 6, Hoshyari et al. 2018: 4, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

S

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question phonecord-32: Ours: 10, Selinger 2003: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

S

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question plug2-64: Ours: 0, Hoshyari et al. 2018: 1, Both: 9, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original (A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question plug2-64: Ours: 6, Selinger 2003: 1, Both: 3, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original (A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question queen-32: Ours: 7, Hoshyari et al. 2018: 0, Both: 0, Neither: 3

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

i

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question queen-32: Ours: 10, Selinger 2003: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

i

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question queen-64: Ours: 9, Hoshyari et al. 2018: 0, Both: 1, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original (A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question queen-64: Ours: 9, Selinger 2003: 0, Both: 1, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original (A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question stomach-32: Ours: 1, Hoshyari et al. 2018: 7, Both: 2, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

b

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question stomach-32: Ours: 2, Selinger 2003: 7, Both: 1, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

b

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question strong-64: Ours: 5, Hoshyari et al. 2018: 4, Both: 1, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original (A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question strong-64: Ours: 5, Selinger 2003: 2, Both: 3, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original (A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

174



Question trophy-64: Ours: 6, Hoshyari et al. 2018: 2, Both: 2, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original (A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question trophy-64: Ours: 7, Selinger 2003: 1, Both: 2, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original (A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question tulip-32: Ours: 4, Hoshyari et al. 2018: 1, Both: 5, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

v

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question tulip-32: Ours: 8, Selinger 2003: 2, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

v

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

178



Question turtle-32: Ours: 2, Hoshyari et al. 2018: 4, Both: 3, Neither: 1

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Li

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question turtle-32: Ours: 10, Selinger 2003: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Li

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question twitter-32: Ours: 4, Hoshyari et al. 2018: 3, Both: 3, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

y

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question twitter-32: Ours: 7, Selinger 2003: 1, Both: 2, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

y

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question user-64: Ours: 3, Hoshyari et al. 2018: 4, Both: 2, Neither: 1

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question user-64: Ours: 10, Selinger 2003: 0, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question water-32: Ours: 3, Hoshyari et al. 2018: 5, Both: 1, Neither: 1

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

=

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question water-32: Ours: 7, Selinger 2003: 0, Both: 1, Neither: 2

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

=

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question western-cactus-32: Ours: 6, Hoshyari et al. 2018: 0, Both: 4, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

ks

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question western-cactus-32: Ours: 8, Selinger 2003: 2, Both: 0, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

ks

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O

188



Question western-cactus-64: Ours: 1, Hoshyari et al. 2018: 0, Both: 9, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original (A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question western-cactus-64: Ours: 4, Selinger 2003: 1, Both: 3, Neither: 2

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

Original (A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question wrench-32: Ours: 2, Hoshyari et al. 2018: 7, Both: 1, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

'0

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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Question wrench-32: Ours: 7, Selinger 2003: 2, Both: 1, Neither: 0

Which of the two images on the bottom, (B) or (C), better represents image (A)? If both are equally good, then
select 'Both', and if neither represents (A), then select 'Meither'.

'0

Original [A) Scaled Up

(E) (C)
(B) (C) both (B) and (C) neither (B) nor (C)

O O O O
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